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[2010] 049
( )
2010-4-30 (m?) 12,271.37
(md) 12,271.37
(I ()
A 1,610 19,750,770
B 543 6,663,354
C - -
D =A+B+C 2,153 | 26,414,124
E 5% 105 1,292,329
F 6% 129 1,584,847
G =(D+E+F)/2* G01*G03 63 777,684
H =(D+E+F)/2* G02* G03 95 1,171,652
GO01 @5.31%
G02 @8.00%
GO03 1.0
J =D+E+F+G+H 2546 | 31,240,636
K 92%
M =J*K 2,342 28,741,385
N C ) 2,342 28,741,400
|
© @ @ ©)]
T —
3 A4
(sqm) 12,271.37 22,571.00
(/gm) 1450
2010-4-30
100 100 100 100
N 1.00 1.00 1.00
A e 1.00 1.00 1.00
A3 | e 1.00 1.00 1.00
Q) 1) 2 ©)
A51 4 8 5 0 0
A52 0 0 0
A53 0 0 0
A54 180 180 -3 0 0
A55 -2 0 0
A56 1 0 0
A57 -3 0 0
A58 -3 0 0
A59 0 0 0
AZ =AZ0+y A[51~59]n 100 95 100 100
A5 =AZ0/AZn 1.11 1.00 1.00
/ 1,610 1,610 -
1 0 0
( ) -
A 1,610
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049

BOL 12,271.37 100 1227137 90% 1,104,42330
BO2 1227137 20 490,855|  90%|  441,769.32
BO3 12,271.37 120 1472564  90%| 1,325307.96
BO4 12,271.37 100 1227137 90% 1,104,423.30
BO5 12,271.37 20 245427|  90%|  220,884.66
BO6 12,271.37 ; ; 90%) }
BO7 12,271.37 3 36,814  90% 33,132.70
BO8 12,271.37 150 1840,706|  90%| 1,656,634.95
B09 12,271.37 10 122,714|  90%| 11044233
B 12,271.37 543 6,663,354 | 90% 5,997,019
/
101 1,030 /sqm 5.0% 631,976 [2003]160
102 26,414,124 1.5% 396,212
109 26,414,124 1.0% 264,141
| 1,292,329
FoL ( 26,414,124 2.0% 528,282
Fo2 26,414,124 1.5% 396212
Fo3 26,414,124 1.0% 264,141
Fo4 26,414,124 1.5% 396,212
F09 26,414,124 -
F 1,584,847
1
0, 0,
2006 4 50| 5% 93% 0.40 68%
2006 4 2] % 83% 040
-------------------- 090 | 020
2 1 2
Gl 95% 025
0,
G2 95% 025 0%
3 95% 015 0.40
G4 90% 0.20
0,
G5 90% 015 o6%
s1 90% 030
2 90% 020
90%
3 90% 0.25 ° 0.40
4 90% 025
3 0% }
- = 90% 0.25
3
88% 96% 2% 0% )
0.50 0.50
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( )
2010-4-30 (m?) 1,651.00
(m?) 1,651.00
‘ ‘ (i) ‘ Q) ‘
A 1,507 2,487,757
B 340 561,340
C 720 1,188,720
D =A+B+C 2,567 4,237,817
E 3% 67 109,904
F 6% 154 254,269
G =(D+E+F)/2*G01* GO3 74 122,183
H =(D+E+F)/2* G02* G03 111 184,080
GO1 @5.31%
G02 @8.00%
GO03 1.0
J =D+E+F+G+H 2,973 4,908,253
K 92%
M =J*K 2,735 4,515,593
N C ) 2,735 4,515,600
(9) (1)
/25—
3 5
(sqm) 1,651.00 4,372.00
( /sgm) | e 1326
2010-4-30

100 100
N 1.00
A2l 1.00
A3 " 1.00

) 1)
4.2
A51 4 0
3.6
A52
A53 0
A54 180 180 0
A55 -5
A56 0
A57 -7
A58 0
A59 0
AZ =AZ0+y A[51~59]n 100 88
A5 =AZ0/AZn 1.14
/ 1,507 1,507

A 1,507
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[2010] 049
BOL 1,651.00 100 165,100|  90%|  148,590.00
BO2 1,651.00 - - 90% -
BO3 1,651.00 120 108,120  90%|  178,308.00
BO4 1,651.00 100 165,100 |  90%|  148,500.00
BO5 1,651.00 ; - 90% -
B06 1,651.00 - - 90% -
BO7 ( 1,651.00 20 33020| 90%  29,718.00
BO8 1,651.00 - - 90% -
B09 1,651.00 ; ; 90% -
B 1,651.00 340 561,340 | 90% 505,206
col 1,651.00 220 363220| 90%| 326,898.00
co2 1,651.00 500 825500 |  90%|  742,950.00
co3 1,651.00 - - 0% -
Co9 1,651.00 ; ; 0% -
c 1,651.00 720 1188720 | 0% 1,069,848
Eol 1,030 /sgm 5.0% 85,027 [2003]160
E09 2,487,998 1.0% 24,880
E 109,906
Fo1 ( 4,238,058 2.0% 84,761
FO2 4,238,058 1.5% 63,571
Fo3 4,238,058 1.0% 42,381
Fo4 4,238,058 1.5% 63,571
Fo9 4,238,058 ;
F 254,283
1
0, 0,
2006 2 50| 5% 93% 0.54 609
2006 2 2] 0% 83% 0.30
-------------------- 0.90 | 0.6
2 1 2
Gl 95% 0.25
0,
G2 95% 0.25 05%
G3 95% 0.15 0.54
G4 95% 0.20
0,
G5 95% 0.15 0%
s1 95% 0.30
2 95% 0.20
95%
3 95% 0.25 ’ 0.30
4 95% 0.25
5 0% ;
- = 20% 0.16
3
89% 94% 92% 0% 92%
0.50 0.50
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(
2010-4-30 (m?) 24,978.70 L2
1,500.00 (m?) 24,978.70
(I ()
A 1,095 27,357,624
B 120 2,997,444
C - -
D =A+B+C 1,215 | 30,355,068
E 7% 82 2,045,280
F 6% 73 1,821,304
G =(D+E+F)/2* G01*G03 36 908,585
H =(D+E+F)/2* G02* G03 41 1,026,650
GO01 @5.31%
G02 @6.00%
GO03 1.0
J =D+E+F+G+H 1,448 | 36,156,887
K 85%
M =J*K 1,230 30,733,354
N () 1,230 30,733,400
|
© @ @ ©)]
XX
A
3 Ad
(sgm) 24,978.70 22,571.00
( Isgmy e 1150
2010-4-30
100 100 100 100
AaA | e 1.00 1.00 1.00
A (e 1.00 1.00 1.00
A3 | e 1.00 1.00 1.00
) 1) 2 ©)
A51 3.7 4 1 0 0
A52 0 0 0
A53 0 1 0
A54 180 180 0 0 0
A55 -2 0 0
A56 5 0 0
A57 -2 0 0
A58 3 0 0
A59 0 0 0
AZ =AZ0+y A[51~59]n 100 105 100 100
A5 =AZ0/AZn 0.95 1.00 1.00
/ 1,095 1,005 - -
1 0 0
( ) -
A 1,095
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BO1 24,978.70 50 1,248935| 90% 1,124,041.50
BO4 24,978.70 20 499574| o0%|  449,616.60
B 24,978.70 70 1,748509 | 90% 1,573,658
101 1,030 50% 1,286,403 [2003]160
102 26,976,996 1.5% 404,655

109 26,976,996 1.0% 269,770

[ 1,960,828

FO1 26,976,996 2.0% 539,540

FO2 26,976,996 1.5% 404,655

FO3 26,976,996 1.0% 269,770

Fo4 26,976,996 1.5% 404,655

F09 26,976,996 =

= 1,618,620
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